[bookmark: _GoBack]In 1066, William the conquer, Duke of Normandy, invaded England because Edward the confessor , head of royal house of Wessex ,died childless and William was related to him. The Normans brought their language Norman-French and the feudal system. When William was crowned king of England , there were three different languages: Norman-French, Old English and Latin. Norman-French was spoken by Normans, Old English was spoken by peasants and Latin was spoken by clerical (in this period it was the language of culture). The feudal system was organized like a pyramid (hierarchical system). At the highest level there was the pope because people needed the “Salvation” and to go to paradise. Then there was the king and there were the vassals. The relationship of the king and vassals was based on loyalty and fidelity . The king gave lands to vassals and vassals gave military protection to the king. Then there were knights and peasants. The knight was the vassal’s soldier and peasants were owned by the vassal whom they worked the land 
